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g B.Sc. (Three Year) DEGREE EXAMINATION, MARCH/APRIL 2017. A
End Semester Examination
Second Semester
Part IT — Mathematics
SOLID GEOMETRY
(Common for B.A./B.Sc.)

- /
Time : 3 Hours Max. Marks : 70
PART — A

Answer any FIVE of the following questions. (5 x 4 = 20 Marks)
1. Find the equation of the plane that passes through the point (3,-3,1) and is

normal to the line joining the points (3,4,-1) and (2,-1,5).
(3,4,—1) 08050 (2,-1,5) Do) 0 B0 ©owomr &otare, (3,—-3,1) Dot

FO0GRA BOO DAEBETR) E308%,08.

Find the distance of the point (-1,-5,-10) from the point of intersection of the line
x-2 y+1 z-2

and the plane x —y+2z=5.
2 4 12 P Y

x—-2 y+1 z-2
2 4 12

(-1,-5,—10) DoBIPHE Ko BI°0°R) 087,08,

B D080 x—yt+z=5 Bod00 DES BoED H00d

x+4 y+6 —(z-1)
5
are coplanar. Find their point of intersection and equation of the plane in which

Show that the lines and 3x-2y+z+5=0=2x+3y+4z-4

they lie.
x;4:y;6:_(22_1) S0BA 3x—2y+z+5=0=2x+3y+4z—4 dPen 58I0ITOD

DIH0G. 8 BPO PESH DK HBASN €99 &0t BOO HAEETR) EHE7 0é.
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Find the equations of the sphere through the circle x>+ y? +2% =1, 2x +4y+5z—6
and touching the plane z=0.

X% +y°+2° =1, 20 +4y+52 -6 HBo How® G 2B z=0 BeR )80 [>T
DBEBETOR 85087,08.

Obtain the equations of the tangent planes to the sphere x* + y? + 2% +6x —2x+1=0.
Which pass through the line 3(16 —x)=3x =2y +30.

316-x)=3x=2y+30 B Mo D xP+y?+22+6x-2x+1=0 AT

éa)'égoioéée):ﬁoo@ DDESeToR o"a)éégo&.

Find the equation of the quadratic cone which passes through the three coordinate

axes and the three mutually perpendicular lines gz y=—-z, X =%=§,
x__ 1. .1
8- 11° 5
BT DETDE e 0T B0 HIEE SEHE ©owdPen gz y=—z, x:%%’

S éz Ko0G G2 SiE0R0RD) Bk, HHOESEsR E0EH 08

X
8 11
If the plane 2x — y+cz =0 cuts the cone yz+2zx +xy =0 in perpendicular lines, find

the value of C.

2 —y+cz=0 B0 yz+2x+xy =0 F0EDH ©0PEII0 3‘()_390&3, C BwE); DOOID

§308%,08.

Find the equation to the cylinder whose generators are parallel to %:%: and

z
3

guiding curve is x% + y? =16, 2 =0.

& JdrodSom ¥OR &oo

B0 x¥ +)7=16,2=0 ™, &TESOR %:%

2
3

RIS B0y, DosBeTR) K87 08.
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10.

11.

12.

13.

PART —B
Answer ALL the following questions. (5 x 10 = 50 Marks)
UNIT -1
Find the bisector of the angle between the planes 3x-6y+2z+5=0,
4x —12y +3z =0 which contain the origin.
D070 VoKV AR &ots, 3x—6y+22+5=0, 4x-12y+32z=0 Hodwe gy Eer)
DR D Berd) 087 0é.
Or
The plane x-2y+3z=0 1is rotated through a right angle about the line of

intersection with the plane 2x +3y—-4z—-5=0. Find the equation of the plane in its
new position.

x-2y+3z=0 B 2x+3y-4z-5=0 B8 Do PGS B Syags, ©08) §%s065°
E50£30 DR, 33763 (§78) RBS” &5 B0 IEBETR) EE,08.

UNIT -1I

Find the magnitude and equations of the line of shortest distance between the lines
x-8 y+9 2z-10 x-15 y-29 z-5

b

3 -16 7 3 8 -5
x-8 y+9 2z-10 x-15 y-29 2z-5 3 o
= = , = = 2gs KR Sror)y EORD B
3 _16 7 3 g T~ _p o0 6y Svy < ®
BHEBETOR) B0BA%0 T3 HBBICEaRVRY K0S 08.
Or

Prove that the planes x=cy+bz, y=az+cx, z=bx+ay pass through one line if
a® +b% +¢* +2abc =1. Find the equations of this line.

x=cy+bz, y=az+cx, z=bx+ay o300, a’+b®+c?+2abc=1 ®on®d 23 B

KO0G® DFTPAD BIPH0G. €3 B B, SAEBeTOR gmgﬁbo&.
UNIT — 11T

Find the -equation of the spheres that passes through the circle
x®+y*+2°-2x+3y-42+6=0, 3x —4y+52-15=0 and cut the sphere
x®+y* +2° +2x+4y-62+11=0 orthogonally.

X% +y*+2" -2x+3y-42+6=0,3x-4y+5z-15=0 &3 HPo Hom T,
x+y? 427 420+ 4y -6z +11 =0 & A'wR) 000 DB0W A ¥o ST S8, 08.

Or
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14.

15.

16.

17.

18.

Find the limiting points of the coaxial system of spheres
x?+y? +2% —20x+30y — 402+ 29+ A(2x -3y —42)=0.

x% +y%+2% —20x + 30y — 402 + 29 + A(2x — 3y —42) =0 A*¥S0e DTG B9 B0E); @3
OGO 08T 0d.
UNIT - IV

Find the equations of the right circular cone passing through the point (1,1,2) has

its vertex at origin, and axis the line g = %43) = % .

(1,1,2) ®os0D) Mot M6, DreBosd) 9¢ dorr) SOR gJTy:g Bty eFom

EORD 002 HBO F0g0) Bov¥); SAESETR) K087 08.
Or

Find the equation of the cone through the intersection of the cones
x%—2y* +32° —4yz+5zx —6xy=0 and 2x*—3y* —5yz+6zx—10xy =0 and the line
with direction cosines proportional to (1,1, 1).

x% —2y* +32% —4yz+5zx —6xy =0 208050 2x%-3y® —5yz+62x—10xy =0 B080H©
DS Koz 8asn (1,1,1) 8 esodsos® & §'°’Q§e§6 SV B Ko A B0KD)
2B0ELETR) K087 08.

UNIT -V

Obtain the equation of the cylinder whose generators touch the sphere
x%+ 92+ 2%+ 2ux +2uy+ 2wz +d =0 and whose generators are parallel to the line

X_JY_Z?

I m n’

% =X-Z2 B0 DHToBSONT STETOR SOR 052006
m n

22+ y?+2% +ux+2vy+ 2wz +d =0 © ﬁ'soa"@ol é@)%’o?fb &THYESOR ORI Klgbzﬁw

BooE); X)ﬁ)oédwx)& U°zoéégo&.
Or
Find the equation of the right circular cylinder whose guiding curve is the circle
through the points (1,0,0) (0,1,0) (0,0,1).
(1,0,0) (0,1,0) (0,0,1) oD OGP D830 ée‘)eﬁg)ol e KORD e)oaoégef%cm

RP300 @oog); BPESETRY) 8087 08.
[
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